
Exercise 2J

Use the information provided in the graphs to write the equation  

of each function in standard form  y =  ax2 +  bx +  c.
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Exercise 2I

1  a  (3,  0);  (7,  0);  (0,  21 )

b  (4,  0);  (5 ,  0);  (0,  40)

c  (2,  0);  (1 ,  0);  (0,  6)

d  (6,  0);  (2,  0);  (0,  60)

2  a  y =  (x   8)(x +  1 )
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 b  y =  (x   3)(x   5)
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3  a  y =  (x +  3)  2   25;  

  y =  (x +  8)(x   2)
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 b  y =  (x +  2)2 +  25;

  y =  (x +  7)(x   3 )
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 c  y =  0.5(x   3 .5)2 +  3 . 1 25;

  y =  0.5(x   1 )(x   6)
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 d  y =  4(x   2.25)2   1 2.25;

  y =  4(x   0.5)(x   4)
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4  a  i  0  ii  6

b  x =  3

c  (3 ,  1 8)

5  a  (  f   g)(x)  =  (x   2)2 +  3

b  (2,  3 )

c  h(x)  =  x 2   1 4x +  50

d  50

Exercise 2J

1  y  =  x 2   4x +  5

2  y  =  x 2   4x   1 2

3  y  =  3x 2   6x +  5

4  y x x=  
1
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5  y  =  2x 2 +  7x +  4

6  y  =  0.4x 2 +  8x

7  y  =  x 2 +  4x +  21

8  y  =  1 2x 2   1 2x +  3

Exercise 2K

1  a  1 4.5  metres

 b  1 .42 seconds

2  1 4 cm,  1 8  cm

3  a  1 0    x

 c  50 cm2

4  1 2.1  cm

5  1 7 m,  46  m

6  7,  9,  1 1

7  
1 5

2

+

8  28.1 25  m2

9  60 km,  70  h2

10  6 hours

Review exercise non-GDC

1  a  6,  2

 b  8
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d  3,  4

 e   1 1 3

 f 
7 1 3
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2  a  4

 b  4,  1

 c  x = 1 .5

 d  1 .5

Answers


